
ivfio == 1

START

2: No

NOTEMPCHK

2: No 1: Yes

EMPCHK

All

EMPSTEN/DMY

ff_jbstat>1

2: Something Else

1: Paid Work

NXTST

1: Yes

2: NoJBSAMR

All

WKPLSAM

2: No

SAMEJOB

All

JBEND/DMY

All

NXTSTELSE

1: Yes, ended

CSTAT

NXTSTEND/DMY

2: No1: Yes

CJOB

All

NXTJBHRS

Key:
ff_ivolw == 1: Interviewed in last wave
ff_jbstat <= 2 (>= 3): (Not) employed in last wave
ff_jbstat >1: Not self-employed in last wave
ff_emplw == 1(2): (Not) in paid work in last wave (ff_jbhas/jboff=1)
 
NOTEMPCHK: Previous wave non-employment check
EMPCHK: Previous wave employment check
EMPSTEN/DMY: Previous wave status end date
 
NXTST: Next status (employed vs non-employed)
NXTSELSE: Next non-employment status
CSTAT: Next status is current status
NXSTEND/DMY: Next status end date
 
JBSAMR: Previous wave same employer check
WKPLSAM: Previous wave same workplace check
SAMEJOB: Previous wave same job check
JBEND/DMY: Previous wave job end date
 
CJOB: Next job is current job
NXTJBEND/DYM: Next job end date
 
NEXTSTATi: Previous wave status + (0/1) + i job vs non-job
NEXTJOBi: Previous wave status + (0/1) + i job type
CURRJOBi: Previous wave status + (0/1) + i is current job
NEXTELSEi: Previous wave status + (0/1) + i non-job type
CURRSTATi: Previous wave status + (0/1) + i is current status
STATEND/DMYi: Previous wave status + (0/1) + i end date

AllNewMum ==1 NewDad == 1

1. Yes
3. Currently on leave

MATLV

matlv == 1

MATLVST/DMY

MATLVEND/DMY

All

STENDREAS

All

JBENDREAS

NXTJBEND/DYM

CJBATT

All

NXTJBES

ff_ivlolw == 1 ff_everint == 1

ff_jbstat > 2

ff_emplw ==2

ff_emplw == 1

ff_jbstat == 1|2



All

1: Paid Employment 2: Something Else

NEXTSTATi

1: Yes, ended

CURRSTATi

All

NEXTELSEi

All

NEXTJOBi

2: No
1: Yes

CURRJOBi

All

STATEND/DMYi

All

All

NXTENDREAS

JBATTi

nextjobi != 4

All

NEXT == 1

NEXT= 1;
 i = i

 

All

REASENDi

All

JOBHOURSi

NEXT= 0
 

NEXT == 1

NEXT= 1;
 i = i + 1

 

Not clear whether
 actually nextjobi!=4

 (which is more likely)
 


